AXH/M

31 RESLA—FK No. 10

6H10H ~ 6H14H
BI=5 1 2 PN 3 4 B 5 6 TR 31=%31)) Lep<F=Ly
T N OvA4T70VB OF&-dEA—F
A ELv = ALK AL HF OkAL S5 O E-FRb2 (55
e L |KE, KEWEFILE L0
~ | L z FETR (Anz, D&%
o E = s 5 KEESTBART
6/10( = - = KAWNEE < S
= EE B EREREID o C MAED Exbyni
=] S A~ ERR 14:50
— ™ = 5 = OZ& #Eh—F
x B& | AL = | E&E 2| BH¥ | T35 Oras
ol # BETH nas
B .
- = L
Y E | pumD | ek mossT | cEEmLe | ¢ | BSEEM | BEIO
B 3 16:10
C
= : m : = O5% S BA—F
X L BH | B |z | H=B
| ow® ﬁ FETH nes
12| & | cxrmie | paEo B | LhE, | B | BT
=) 2 15:00
— = = = W, 3 = N D%%’%'E‘I’ﬁﬁ_l‘
x| | HE | xLE HT | B® |=| EE | EH B
~ 127 # TR -
A . ZEESED - N S
6/13| 3 T | —qpmi g TELGE N PYEG z HHET | FavEETES
g |~ bHTEL BOHEEDS ) 47.48 7Rk 16:10
C
% = : = OE® S BA—F
& H ElzE = HE B El:E OnKas
| = 2 # ETHR O&e
VN E | pyge | cxrmie | | mo&5T | BETL0N | £ | &Y
A 2 15:15
C




